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1. The raws n = 6 and n = 7 in Pascal triangle have been

kept vacant. Fill in the gaps.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Afy4WONHLzRH
https://dl.doubtnut.com/l/_vJsKGzTxojBz


2. Write down the expansion of  using

Pascal's triangle.

Watch Video Solution

(a + b)8

3. Find the 3rd term in expansion of 

using rules of Pascal Triangle.

Watch Video Solution

(2x3 − )
4

1

x6

4. Expand the following 

Watch Video Solution

(7a + 3b)
6

https://dl.doubtnut.com/l/_vJsKGzTxojBz
https://dl.doubtnut.com/l/_nGnFSunfc0ES
https://dl.doubtnut.com/l/_ddH1dn7mwixX


5. Expand the following 

Watch Video Solution

( − 9 + b)
7a

2

6. Expand the following 

Watch Video Solution

(a − 7 )
4c

3

7. Apply Binomial Theorem to find the value of 

Watch Video Solution

(1.01)5

https://dl.doubtnut.com/l/_l12wn64xOW2j
https://dl.doubtnut.com/l/_l7g3aUP46N0W
https://dl.doubtnut.com/l/_b0t5YkSduJs4


8. State true or false. The number of terms in

expansion of  is equal to 7.

Watch Video Solution

(x2 − 2 + )
6

1

x2

9. State true or false. There is a term independent of

both x and y in the expansion of 

Watch Video Solution

(x2 + )
91

y2

10. State true or false. The highest power in the

expansion of  is equal to 40.x40(x2 + )
20

1

x2

https://dl.doubtnut.com/l/_VTQl7FjAtGpr
https://dl.doubtnut.com/l/_HObgiTF3KOsy
https://dl.doubtnut.com/l/_Pv6Dd51QvvYi


Watch Video Solution

11. State true or false. The product of K consecutive

natural numbers is divisible by K!.

Watch Video Solution

12. Answer the following: If 6th term in the expansion

of  is equal to  find *.

Watch Video Solution

(x + ⋅ )
n nC5xn − 10

https://dl.doubtnut.com/l/_Pv6Dd51QvvYi
https://dl.doubtnut.com/l/_9216MtLcdVN5
https://dl.doubtnut.com/l/_6B4Jmq6rsxdE


13. Find the number of terms in the expansion of

.

Watch Video Solution

(1 + x)n(1 − x)n

14. Find the value of 

Watch Video Solution

^nC_(r-1)//n
Cr

15. How many terms in the expansion of 

have positive powers of a? How many have negative

powers of a?

Watch Video Solution

( + )
10

3

a

a

3

https://dl.doubtnut.com/l/_bs9FTe2qbpAq
https://dl.doubtnut.com/l/_PQBPYb3Dn2en
https://dl.doubtnut.com/l/_QsZLmMLVo5FL


Watch Video Solution

16. Find the middle term in the expansion of the

.

Watch Video Solution

( + )
6

a

b

b

a

17. Find the middle term in the expansion of the

Watch Video Solution

(x + )
9

1

x

https://dl.doubtnut.com/l/_QsZLmMLVo5FL
https://dl.doubtnut.com/l/_cyjB1jYc8vDN
https://dl.doubtnut.com/l/_df4a7IMnUxC0


18. Find the middle term in the expansion of the

Watch Video Solution

(x − y )
83

2

3

2

19. Find the 6th term in the expansion of

.

Watch Video Solution

(x2 + )
10

a4

y2

20. Find the fifth term in the expansion of

h id l i

(6x − )
10

a3

x

https://dl.doubtnut.com/l/_1TcHSs6oTRZF
https://dl.doubtnut.com/l/_U0prrlfuvtQM
https://dl.doubtnut.com/l/_iseFxc2l8wAf


Watch Video Solution

21. Find the coefficient of  in the expansion of 

Watch Video Solution

1

y10

(y3 + )
10

a7

y5

22. In the expansion of ,
 Does there

exist a term independent of y in the above expansion?

Watch Video Solution

(y3 + )
10

a7

y5

https://dl.doubtnut.com/l/_iseFxc2l8wAf
https://dl.doubtnut.com/l/_JcEaeRB29T9a
https://dl.doubtnut.com/l/_XMX4NkvLSWGq


23. Find the coefficient of  in the expansion of 

Watch Video Solution

x4

(1 + 3x + 10x2)(x + )
10

1

x

24. Find the term independent of x in the above

expansion.


Watch Video Solution

(1 + 3x + 10x2)(x + )
101

x

25. Show that the coefficient of  and  in

expansion of  are equal.

W h Vid S l i

am an

(1 + a)m+ n

https://dl.doubtnut.com/l/_90v15YDNULe6
https://dl.doubtnut.com/l/_ono9r06sitG6
https://dl.doubtnut.com/l/_DFKWEyOkuKIp


Watch Video Solution

26. An expression of the form (a+b+c+d+ .... )

consisting of sum of many distinct symbols is called a

multinomial. Show that  is the sum of all

terms of the form  where p, q and r

range over all possible triples of non negative

integers such that p+q+r = n.

Watch Video Solution

(a + b + c)n

n !q !e !apbqcr!

p

27. State and prove a multinomial Theorem.

Watch Video Solution

https://dl.doubtnut.com/l/_DFKWEyOkuKIp
https://dl.doubtnut.com/l/_BhV6bkvBYoxY
https://dl.doubtnut.com/l/_ghT5X58GF9D3


28. Prove that 

Watch Video Solution

2nC0 +2n C2 + .... +2n C2n = 22n − 1

29. Prove that  = 

Watch Video Solution

2nC1 +2n C3 + .... +2n C2n − 1 22n − 1

30. Find the sum of 

Watch Video Solution

C1 + 2C2 + 3C3 + .... + nCn

https://dl.doubtnut.com/l/_nme8SR75ymnl
https://dl.doubtnut.com/l/_CrlWWhfE6mi6
https://dl.doubtnut.com/l/_1gsuPSeaheJr


31. Find the sum of

Watch Video Solution

C0 + 2C1 + 3C2 + .... + (n + 1)Cn

32. Compute 

Watch Video Solution

(1 + k)(1 + ).... . (1 + )k

2
k
n

(1 + n)(1 + ).... . (1 + )n

2
n

k

33. Show that

 


= 

C0C1 + C1C2 + C2C3 + .... + Cn − 1Cn

2n !

(n − 1) !(n + 1!)

https://dl.doubtnut.com/l/_929prCPNy9Nc
https://dl.doubtnut.com/l/_ZTnJhnuecKFj
https://dl.doubtnut.com/l/_IyxXNRnXuE3r


Watch Video Solution

34.  = 

Watch Video Solution

C0C1 + C1C2 + .... + Cn − 1Cn

2n. n.1.3.5...(2n − 1)

n + 1

35. Show that

 term

= 0

Watch Video Solution

3C0 − 8C1 + 13C2 − 18C3 + .... . + (n + 1)
th

https://dl.doubtnut.com/l/_IyxXNRnXuE3r
https://dl.doubtnut.com/l/_jztDEPsUvLLD
https://dl.doubtnut.com/l/_y9nhdzM5i7pB


36. Show that

= 

Watch Video Solution

C0n2 + C1(2 − n)2 + C2(4 − n)2 + .... + Cn(2n − n)2

n.2n

37. Show that 

= 

Watch Video Solution

C0 + 3C1 + 5C2 + .... + (2n + 1)Cn

(n + 1)(2n)

38. Find the sum of the following

C1 − 2C2 + 3C3 − .... . + n( − 1)n − 1
Cn

https://dl.doubtnut.com/l/_POzDVHSXRWJR
https://dl.doubtnut.com/l/_1CszV0IhEg2h
https://dl.doubtnut.com/l/_QmEhKEgiuAcu


Watch Video Solution

39. Find the sum of the following

Watch Video Solution

1.2C2 + 2.3C3 + ... + (n − 1)nCn

40. Find the sum of the following

Watch Video Solution

C1 + 22C2 + 32C3 + ... + n2Cn

https://dl.doubtnut.com/l/_QmEhKEgiuAcu
https://dl.doubtnut.com/l/_QstHKNFECGkh
https://dl.doubtnut.com/l/_Od70eqvM1hWF


41. Find the sum of the following

Watch Video Solution

C1 − 2C2 + 3C3 − .... . + n( − 1)n − 1
Cn

42. Show that  = 

Watch Video Solution

C 2
1 + 2C 2

2 + 3C 2
3 + ... + nC 2

n

(2n − 1!)

{(n − 1) !}2

43. Show that  =

1+ (n-2) 2^(n-1)`

Watch Video Solution

C2 + 2C3 + 3C4 + ... + (n − 1)Cn

https://dl.doubtnut.com/l/_NFhltgodF013
https://dl.doubtnut.com/l/_qnwvQoNvygP7
https://dl.doubtnut.com/l/_N0S8ShwiuWVC


Watch Video Solution

44. prove that :-

 = 1+1/2 +

.... +1/n

Watch Video Solution

C1 − C2 + C3 + ... + ( − 1)n + 1
Cn

1

2

1

3

1

n

45.  = 

Watch Video Solution

C0C1 + C1C2 + .... + Cn − 1Cn

2n. n.1.3.5...(2n − 1)

n + 1

https://dl.doubtnut.com/l/_N0S8ShwiuWVC
https://dl.doubtnut.com/l/_GJhjkChKxMkc
https://dl.doubtnut.com/l/_Fe8NjYIa9ZZO


46. The sum  can

be written in the form  Find a and b.

Watch Video Solution

+ + ... + +
1

1!9!

1

3!7!

1

7!3!

1

9!1!
2a

b !

47. Using binomial theorem show that

 is divisible by 5

Watch Video Solution

199 + 299 + 399 + 499 + 599

48. Using the binomial theorem show that

 is divisible by 3 and 5 so

that it is actually divisible by 15.

199 + 299 + 399 + 499 + 599

https://dl.doubtnut.com/l/_M3nIqOOOxsyG
https://dl.doubtnut.com/l/_8Plh0Zj1DNwO
https://dl.doubtnut.com/l/_ey9J5ElQhD1G


Watch Video Solution

https://dl.doubtnut.com/l/_ey9J5ElQhD1G

